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QUESTION 1

How does FortiManager handle FortiGuard requests from FortiGate devices, when it is configured as a local FDS?
A. FortiManager will respond to update requests only from a managed device.

B. FortiManager can download and maintain local copies of FortiGuard databases.

C. FortiManager supports only FortiGuard push update to managed devices.

D. FortiManager does not support web filter rating requests.

Correct Answer: B

QUESTION 2

What is the purpose of an internal segmentation firewall (ISFW)?

A. It is the first line of defense at the network perimeter.

B. It inspects incoming traffic to protect services in the corporate DMZ.

C. Itis an all-in-one security appliance that is placed at remote sites to extend the enterprise network.
D. It splits the network into multiple security segments to minimize the impact of breaches.

Correct Answer: D

QUESTION 3

View the exhibit, which contains the output of a debug command, and then answer the question below.

FGT # get router info ospf interface port4

port4 is up, line protocol is up
Internet Address 172.20.121.236/24, Area 0.0.0.0, MTU 1500
Process ID O, Router ID 0.0.0.4, Network T"pH BROADCAST,
Transmit Delay is 1 sec, State DROther, Priority 1
Designated Router (ID) 172.20.140.2, Interface Add
Backup Designated Router (ID) 0.0.0.1, Interface

Timer intervals configured, Hello 10.000,
Hello due in 00:00:05

Neighbor Count is 4, Adjacent neighbor count is 2

Crypt Secuence Nuwber is 411

Hello received 106 sent 27, DD receiv

L5—Req received 2 = ;1 3-Upd rece

L3-Ack received 4 s . 3, Discarded 1

Which of the following statements about the exhibit are true? (Choose two.)

NSE7_EFW-6.0 PDF Dumps | NSE7_EFW-6.0 Exam Questions | NSE7_EFW-6.0 Braindumps 2/4


https://www.pass4itsure.com/nse7_efw-6-0.html
https://www.pass4itsure.com/nse7_efw-6-0.html
https://www.pass4itsure.com/nse7_efw-6-0.html

VCE & PDF https://www.pass4itsure.com/nse7_efw-6-0.html
a 2024 Latest passditsure NSE7_EFW-6.0 PDF and VCE dumps Download
== / PassditSure.com

A. Port4 is connected to the OSPF backbone area.

B. In the network connected to port4, two OSPF routers are down.
C. The local FortiGate is the backup designated router.

D. The local FortiGate\\'s OSPF router ID is 0.0.0.4.

Correct Answer: AD

QUESTION 4

View the exhibit, which contains the output of diagnose sys session stat, and then answer the question below.

NGFW-1 # diagnose : es=jon st
mi=c info: - lon_count= Up rat exp count=0 clash=162
memory_ten rlr:np 0 0 removeab le=0
delete=0, lu..h—lj, .-'_.l::m.fn 0/0
TCP sessions:
166 in NOMNE
1 in ESTABLIS
3 in SYN SENT :
2 in TIME WAIT :
fi].'EhT“lll error ﬂ!:-at-:

eerLE—DDDDDGUD

error3=00000000
errord4=00000000
tt=00000000
conc=00000000

ids recv=00000000
url re “UDDGHDDU
a_r

zqdn_'ounr =00000006

global: g limit=0 ses6_ limit=0 rt limit=0 rt6 limit=0

Which of the following statements about the output shown are correct? (Choose two.)
A. There are 166 TCP sessions waiting to complete the three-way handshake.

B. All the sessions in the session table are TCP sessions.

C. There are 0 ephemeral sessions.

D. No sessions have been deleted because of memory pages exhaustion.

Correct Answer: CD

QUESTION 5
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View the exhibit, which contains a session table entry, and then answer the question below.

diagnose

on info: p dur Llon=3 Xpir 65 timeout=300 flags=00000000

0 ha_id=0 policy_
redir local may dirty none app ntf
by / ) org=320

(before, after)
m 8:5hb &

npu info: £ off load= epid=0/0, ipid=0/0, wlan=0x0000/0x0000
wvlifid=0/( ] 0, out_np f0, fwd_en=0/0, qid=0/0

Which one of the following statements is true regarding FortiGates\\'s inspection of this session?
A. FortiGate applied flow-based inspection.

B. FortiGate applied proxy-based inspection.

C. FortiGate forwarded this session without any inspection.

D. FortiGate applied NGFW flow-based inspection.

Correct Answer: B
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